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1. SZERT
(1) 3 EMR LT
ZJEMH L = 1. 000
ZIER =7 U — ] 24-12-25(20) (Fi4) m3 36. 000
HUFE T nf 65. 200
EAML t=15cm, F|ZFE5~15cm nf 60. 000
H T VS WMEE B A t=10mm nf 14. 400
a7V —h 18-8-40 (& 4F) m3 2. 400
SRR nf 2. 800
B L BRAHN T, $A57 SD345, D25 ton 2. 430
# L ERAHN T, $A57 SD345, D19 ton 1. 330
# L ERAHN T, $A57 SD295, D10 ton 0.180
WER Y e =% HREVU 2150 4. 0m VN 1. 700
WE R e =% —EVP 265 &A4.0m VN 4.300
SR HI HE m3 23. 000
B+ m3 33.000
LR m 23. 400
2. TUoh—T
(1) 7rH—T
T Hh—T =X 1. 000
T —10 (HIHL) TEE A, 135mm, VEE £ m 202. 400
T —10 (HIHL) CEE A, 135mm, HUA m 93. 200
PARAIN L - AHNZ - RN - R - E A H ES 11. 000
7 h— T AT /I=77709. TKN/A, 2 1.000

TE F5 faf EE400. OKN/ A<
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R 2EW EIRRL RETFS  IWELSHE  HEkihEk
TR - AR - A0 ok HLAZ Kok i =
777 MEA 24N/mm2, W/C=47.5% m3 13. 500
3. (%
(1) fae&

% L v 1. 000
Y Z%m3 147. 900
K=V v T~ Bk [e1] 1. 000
fit~ > T %T%ﬁggﬁéﬁ%@g i 120. 000
T (/%) iégg%g/;;o A I 100. 000
ERER R > b AL R E R FE3. 0m m 100. 000
Mt R+ 5 #ik % 384. 000
G Bt m3 693. 000
Vs mmiisi m3 693. 000
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1. Wefi#e
(1) e 2

HEfi # X 1.000

BE 77 SE Rt = 1.000
BEM 77 ton 3. 000
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